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H & & F (arithmetic operator) 7 = W A 38
)

él |

« —ILEE ?(unaryoperator)( =E—EES
Bl IRIB /BB ES
K=K++:

- _JtEE f(binary operator) (FFZmM EZE S 1)
K = numl + num2;

K = huml - num2;

K =numl * num2;

K =nhuml/num2;

K = nhuml % num?2;

BEE T o(operand):BE( 1,2, 3,.....) 82 E(LEY: num1,num2,...... °



BER 1 - —JoiEHE F(binary operator)

—

+ M EES THINEES X+

- e M EE R TThRN A E S X-V

* M EES THREES x*y

/ IRIHMEESE TR EES X[y

% IRt MEES TTRBREES X%y
Bt (operand) : EQ( 1,2, 3,..... )8 @8 &(tE®: numl,num2,......) °

E 1\ (expression) : EHF(operatorH)EE S jr(operand) A A% -
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B—EE - AR - ElommEN -
w2k - BREABREIRVAER -

i A E B -

5

2
i L # 5 -
5+2=7
5-2=3
5*2=10

5/2=28x1



2ZEiB-1

1 #include<iostream>

2 #include<iomanip>

3 using namespace std;
4 int main()

5a{
6 int a,b; // =75 AEEE

7 cin>>a>>b; // By A WA 2T

8 cout<<a<<"+"<<b<<"="<<a+b<<endl; // 7/
9 cout<<a<<"-"<<b<<"="<<a-b<<endl; // i

10 cout<<a<<"*"<<b<<"="<<a*b<<endl; // 7
11 cout<<a<<"/"<<b<<"="<<a/bc<endl; ///#
12 return ©;



5 7€ i &+ (assighment operator)

(T

(BIRZ=HE - JoiT4

=D
O
M
L]
—>H
Tl

(TLTY

H%ELE’METE E 40 I i

)



int a,b,result;
cin>>a>>b;

result = a+b;

result E5%la+b



fBlF1 :

intx = 50; #x=Z 152150
X =x+100;: #x=1E2I150



fBF2 -

i ) FUMBETEESS | (LA FFA7R) -

1 =J;
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Extended concept




#include <iostream>
#include <iomanip>
using namespace std;

int main() {
int s,a,b; 9.0/5.0=1.8
float f;
cin>>f>>endl;
f=|(float)9/5pks+32;

cout<<“ZEEREH"<<fixed<<setprecision(1l)<<f<<endl;
return 0;




ATEERERERERBEE?

MR LAFint(BREEER) Eidpfloat(EREFMEER) - EER?

F

—

B+ : REza/FREB - Ha=9/5 - alVERZ V(L
) ?

EAARNEERRSET

7

#include <iostream>
#include <iomanip>

using namespace std; %:5% : 1.000000
(AROMSHEE - PRI ERI9/5RERYEEENI21(1.8091) <)

int main(){

float a; ) \
azgf’;f- S . o easarER . 9/SHE(UIE A AR NEEEE /N ES
return 0: ’ ' 1.800000 -



H#eREEREF(THEL)

(compound assignment operator)

intc=12,d=12,e=12,f=12,g =12,

EEEEERES FHHIERT BT
c+=7

C=c+7 c 5% 19
_= d-=4 d=d-4 d 3£ 8
*_ e*=5 e =e*5 e 1551 60
/= f/=3 f=1£/3 f 1554
04— g %=9 g = g%9 g fF%] 3

BB T (expression): AEE F(operator) B E & st (operand)AHAY -



1l

C=C+3;
N EER L +=
MR C +=3;




2ERIB

#include <iostream>
using namespace std;

int main( ){

int c=12,d=12,e=12,f=12,9=12;
c+=7;
d-=4;

© ex=5;
f/=3;
0%=9;
cout<<c<<endl;/* 19 */
cout<<d<<endl;/* 8 */
cout<<e<<endl;/* 60 */
cout<<f<<endl;/* 4 */
cout<<g<<endl;/* 3 */
return 0;



EIRERE T/ EREFRT

(increment operator/ decrement operator)

- BiiiEE S (arithmetic operator) WHE+—7&
« B—ITiEE S (unary operator)

++ +4a Foialkigl ﬁuaﬁ’ﬁﬁEL TER
++ a++ PaHRIKEETTES EIE]
-- --b ERL Eubﬁ’ﬁ)ﬂELFE%
-- b-- L/(bﬁﬁu HEETESR - BiFbiER1

#EE T (expression): FHEB & F(operator) BB & ju(operand) B2 -
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#include <iostream>
using namespace std;

int main(){

int c;

c = 5;

cout<<c<<endl;/* 5 */
cout<<c++<<endl;/* 5 */
cout<<c<<endl;/* 6 */

c = 5;

cout<<c<<endl;/* 5 */
cout<<++c<<endl;/* 6 */
cout<<c<<endl;/* 6 */
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#include <iostream>
using namespace std;

int main(){
int c;
cC = 5;
cout<<c<<endl;/* 5
cout<<c--<<endl;/*
cout<<c<<endl;/* 4
C = 5;
cout<<c<<endl;/* 5
cout<<--c<<endl;/*
cout<<c<<endl;/* 4

*/
5 */
*/

*/
4 */
%/



